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A car increases its speed from 36 km/h to 54 km/h in 10s .
Its acceleration is -
(a)30ms> (b)3ms™ (c)18ms?> (d)0.5ms”
The device used to measure speed of a vehicle is-
(a) Odometer (b) Speedometer
(c) Thermometer (d) Voltmeter
To make a battery of 9 volts. how many 1.5 V cells are
needed ?
(a)6 (b) 5 (c)4 (d)3
What happens, when a ray incident at the optical centre?
(a) It passes with deviation of 30° angle through the lens
(b) It passes undeviated through the lens
(c) It passes with deviation of 45° angle through the lens
(d) None of these
In a plane mirror, an object is 0.5 m in front of the mirror.
The distance between object and image is -
(a) 0.5 m (b)1m
(c)0.25 m (d)0.75m
When two plane mirrors are kept at 90°, we get
(a) Only one image
(b) Two images
(c) Three images
(d) Infinite number of images
A positively charged ion is called
(a) Atom (b) Anion
(c) Cation (d) Neutral ion
Which of the following is the least?
(a) Static friction (b) Sliding friction
(c) Rolling friction (d) Limiting friction
The pitch of a sound depends upon its -
(a) Amplitude (b) Frequency
(c) Quality (d) None of these
10. What will be the pressure in N/m’ata depth of 15 cm in

brine of density 1.2 gm/cm>?
(a) 1800 N/m’ (b) 900 N/m’
(c) 1700 N/m’ (d) 1500 N/m’

=
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10.

Th BR P AT 10 JPvS H 36 fHHI /8 T deDY
54 fpH1 /€S 81 O © 9 ST @RI 8-

(a) 30 W 4.2 (b) 3+ 4.2

(c) 18 ¥ .2 (d) 0.5 /1 3.2
T aed BI A d AT H Ugh IRh T
(a) MerHIeR (b) ST
(c) oY (d) areeHiex

9 diec B IS Bl 999 H 1.5 diec b fhad dal &
AT Ipal Brfi—

() 6 (b)5 (c)4 (d)3

59 UP fHROT UHIRIe dHs UX Amufad Bl § a9 @l
BATT?

(a) I8 oI=di # & fages dIor 30° § Yok 2

(b) g o=t # | 1 fgem & o 21

(c) T o=l # 1 fager ot 45° I IO 2

(d) s & BIg 7l

Uh HATE UUT W UP d%g QU ¥ 05 Hiew W W
T € q9 IR qAT U & 7T T v

(@) 0.59eR (b) 1R

(c) 0.25#ex (d) 0.75#ex

ST T FFdd YN Bl 90° TR YT ST § o9 &9 W
PRI B—

(a) dadt & ufafew (b) <1 ufafew

(c) o= ufafew (d) e e | ufafew
WHHC‘?%&é%ﬂSﬁ&?Eﬁ%Ha T—

(a) TR (b) FEOTRIA

(c) &=raA (d) IS 3
frferRad & & w=mr a9 87

(a) <Afas =vor (b) foaer Ty
(c) b =y (d) <frere TsoT
U edf B TR R Bl 8-

(a) D A W (b) THT 3MRT W
(c) ST T W (d) T 3 BIS TE

1.2 98 /9 Ocd D Fied H 15 9H B TS W <6
e /e # w1 g
(a) 1800 =g/ Hiew
(c) 1700 =g+ / Hiew

(b) 900 =g / Hiexe
(d) 1500 =g+ / Hiew?
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11. The metal that is liquid at room temperature is :
(a) Sodium
(b) Mercury
(c) Copper
(d) Gold
12. Combustion supporter is :-
(a) CO,
(b) CO
(c) N,
(d) O,
13. Alkalies are
(a) Bases which are insoluble in water
(b) Acid which are soluble in water
(c) Bases which are soluble in water
(d) Acid which are insoluble in water
14. The damaging effect of acid rain is caused due to :
(a) Carbonic acid
(b) Sulphuric acid
(c) Nitric acid
(d) All of these
15. When we burn piece of wool, special type of smell comes
out. It is because wool is made up of
(a) Protein
(b) Fats
(c) Vitamin
(d) Carbohydrats
16. Synthetic fibres have
(a) Lustre
(b) Need lots of ironing
(c) Donot get electrically charged
(d) Absorb moisture
17. Which is most mellable?
(a) Carbon
(b) Gold
(c) Silver
(d) Copper
18.Boron, Silicon, germanium are the examples of
(a) Metal
(b) Metalloids
(c) Non metal
(d) Acid
19.LPG is the the mixture of
(a) Methane & hydrogen
(b) Ethane & CO
(c) Ethane & propane
(d) Butane, propane & ethane
20.Formula of blue vitirol is
(a) CusO,.2H,0
(b) CusO,.H,0
(c) Cus0,.7H,0
(d) Cus0,.5H,0

11. 98 o1g Sl W & 9 W &9 8, o—
(a) HIfsTH
(b) AH
(c) dfar
(d) aof
12. f=fiRed § 9 SR <89 A 98d 8-
@ co, (b) CO
(© N, ) o,
13. fewelt -
(3) &R ST 9o & arfaery 2
(b) o7t ST STt # faora 7|
(c) &R ST 5T & faerg 2
(d) 37T ST STt # arfaerd ® |
14. 317 99T B BIHBRD T9T BT HRUT g
(a) Praifad et
(b) HRIR® 3
(©) rsfesd e
(d) SIRRE |
15, $F & THe DI o™ R R ISR @ T 37 2|
ST HRT Ig ¢ & & a1 Bl 8-
(@) S+ |
(b) el
(c) o=t «
(d) wrdfErgse |
16. AT N —
(a) ¥ o9 B B |
(b) IS (press) BT MMATHAT BN # |
(c) faga wu | Mg 72 8T 7 |
(d) Ear BT SraRNfT FRd B |
17. fy=fRad & srar walfde smardaed (mellable) 272
(@) PreT
(b) o
(c) Xora
(d) dfar
18. IR, fifere, cwfrm fF=faRed § @ feas
SRS
() &1
(b) e
(c) emErg
(d) st
19. LPG fasor g—
(a) AAT TAT EISgIo
(b) VT TAT CO
(c) VAT TAT UruA
(d) =g, 9= = Ve
20. e el BT GF T
(@) CuSO,.2H,0
(b) CuSO,.H,0
(c) CuSO,.7H,0
(d) CuS0,.5H,0
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30.

Which is not an example of Rabi crop : -

(a) Gram

(b) Wheat

(c) cotton

(d) Pea

Rhizobium bacteria is found in the roots of :
(a) Wheat

(b) Paddy
(c) Pulses
(d) All the above

WWEF is related to conservation of :
(a) Water
(b) Wildlife
(c) Working women
(d) Child labour
The longest cell of human beings is :
(a) RBC
(b) WBC
(c) Nerve cell
(d) Dermal cell
The teeth adapted for flesh eating are :
(a) Incisors
(b) Premolars
(c) Canines
(d) Molars
Saliva contains an enzyme called
(a) Amylase
(b) Trypsin
(c) Pepsin
(d) None of these
Bacteria & fungi acts as :
(a) Decomposers
(b) Herbivores
(c) Omnivore
(d) Cainvore
When air tubes in the lungs become inflamed the condition
is called
(a) Bronchitis
(b) Lung Cancer
(c) Emphysema
(d) Wheezing
Tiny, irregular, square or star shaped structure which have
no nuclei & play a major role in clotting of blood are called
(a) RBCs
(b) WBCs
(c) Platetets
(d) Antibodies
Digestion of fat our body is faster than that of proteins or
carbohydrates the statement is
(a) True
(b) False

(c) Incomplete
(d) EitherBor C
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ferforRad & & SI99T Yl BU BT Uh IQT8xl ol

¥
(@ = (b) g,
(c) U (d) AeR

o

friforRaa @ & fode o€l # ST Siare] g
ST 87

@ g

(b) &

(c) <Telt

(d) SR T

f=falRaa & 9 fhas d=err 9 WWF Iwfid 87

(a) ot

(b) T

(c) PRRA Afgamsi

(d) T s

AT B Aad qET BRI B

(&) RBC

(b) WBC

(c) dfrdT BIfdreT

(d) = PR

f=faRad & I foad 7 @M & oy <fa wualRd
gY?

(8) dad (b) 3T Tgvicp

(ORRERED (d) @avi®

TR ¥ U S aTel UolgH Hedrdl i

(a) THISES (b) fefeam

(c) uftas (d) T8 & ®IE &I

SIaTT] I Hdd BRI B oo

(a) JMIECH & WY H

(b) IMHEN & wT H

(c) wafert & wu #

(d) HEERI & w9 H

T RERAl # AR ATl # o o ot € 99 I8
Rerfr Fgamrd 82—

(a) Fa= vy

(b) I DI

(OREISEI

(d) WaRTH & THY ERERTEE

DI Do Tl UM ST & JAT Sl h &I AdD] a4
(Fpa) H FEagel YfAET QT B B, HEA 27

() RBCs

(b) WBCs

(c) dfeeary

(d) IR

TAR IR P AT BT Yra= WD 3ferdl braigrgsel
I H TSl ¥ BT © | I§ BT T

(a I3

(b) et

() g

(d) B 3ferar C
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What is the total numbers of prime numbers less than 100
?

(a) 31 (b) 25

(c) 23 (d) 19

If nis even, the product n(n+ 1) (n+2) is divisible by ?

(a) 24

(b) 7

(c) zero

(d) None of these

A couple has six married sons, each of which has
4 children. How many members are there in that family?

(a) 32

(b) 38

(c) 35

(d) None of these

Thevalueof 9+ (9+9)+9is:

(a) 11

(b)9

(c) 19

(d) 29

The ratio between the present ages of Veer Singh and
Onkar is 7 : 6 and the sum of their present ages is 39 years.
Find the ages of each —

(a) 13,21

(b) 42, 49

(c) 21,18

(d) None of these

If one acute angle of a right triangle is 51° find other acute
angle —

(a) 61°

(b) 39°

(c)41°

(d) None of these

Four bells toll at interval of 6, 8, 12 and 18 seconds.
If they begin to toll at 12 together, the least time after that
they will again toll together is :

(a) 1 min and 12 seconds

(b) 1 min and 15 seconds

(c) 1 min and 20 seconds

(d) None of these

The square of any number can not end with the digit —
(a) 2 (b) 4
(c)6 (d)o

Which is the associative property ?
(a)axb=bxa
(b)a+(b+c)=
(c)a+b=b+a
(d) buesa Is dksbZ ugha

Choose the wrong statement —

(a) There is no largest natural number

(b) There is no largest whole number

(c) Every natural number is a whole number

(a+b)+c

(d) All natural number together with zero are called

integers
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100 9 HF M HRIA B Gl T 9T 57

@) 31 (b) 25

©) 23 d) 19

IE N\ § q9 TOE n (n+ 1) (n + 2) Fe=feRed 4 9
e gIRT wro BhIT?

(@) 24

(b) 7

() I3

(d) 379 9 ®ig T

Uh THRT B 6 WRIYE §F © o 9 ude gd
D 4Fe § 99 99 URAR ¥ fhas 9e &7

(a) 32 (b) 38
(c) 35 (d) 37 & ®Ig 7
9+ (9+9)+ 9 H AN T—

(a) 11 (b) 9

(c) 19 (d) 29

IRRYE TAT PR B IdaH MY D Fed U 7
aweﬁﬂ%aﬁﬂﬁa@ao‘ruﬁwﬁm‘%aamaﬁ
3MMY ST BIT—

() 13,21 (b) 42, 49

(c) 21,18 (d) T8 & DIE &I

Ife U FHASIOT B &1 T gABIVT 51° ¥ 9 Y
GBIV ST DITI—

(a) 61° (b) 39°

(c) 41° (d) s | B L

IR =fvct RTE 6, 8, 12 TN 18 AHUS! WX Foldll ¢ |
Ife d 12 9of TH—1eT IO UR™ Rl § a9 gAaH
fobe 9T 91 a8 YA Up—ATeT Foii?

(@) 1fi¥e qer 12 davs
(b) 1 e T 15 dHvs
(c) 1fi¥e qer 20 davs

(d) s 9§ Big T2l
fooedY Y =T & T BT I AEfaIRad § W ped
3fp o FTET Bl FHdT 87

(@ 2 (b) 4

(c) 6 (d) 9
frferRad & & dar | o 87
(@) axb=bxa

(b) a+(b+c)=(a+b)+c

(c) atb=b+a

(d) T 2 BIg L

TAd BAT BT T DI~

(8) BIS W FI TSI U =T 781 & |

(b) ®1E f T I Yot e 6 2

(c) TS U HEAT Uh gol HeET B |

(d) I & T T WHd G Ul hEeldl 3 |
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